Bevodlkerungsdichte 1950

Einwohner/km? pro Bezirk

B 2000 - 7000
B 500 - 2000

B 200- 500
] 50- 200
]
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Bevolkerungsdichte 1970

Einwohner/km? pro Bezirk
B 2000 - 7000

B 500 - 2000
I 200- 500
1 50- 200
]
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Bevodlkerungsdichte 1990

Einwohner/km? pro Bezirk

B 2000 - 7000
B 500 - 2000

B 200- 500
1 50- 200
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Bevdlkerungsdichte 1960

Einwohner/km? pro Bezirk
I 2000 - 7000
500 - 2000
200 - 500

JEnn

Bevélkerungsdichte 1980

Einwohner/km? pro Bezirk
I 2000 - 7000
500 - 2000
200 - 500

L

Bevodlkerungsdichte 2000

Einwohner/km? pro Bezirk
I 2000 - 7000

B 500 - 2000
@ 200- 500
] 50- 200
[ ] o0- 50
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